Q i j g .éﬂ ba phan sd, sb thap phan, tht tir cac phép toan

Tén: Ngay thang: Diém:
]. — —_ —
3
5,6 x2+5,6= 2,9%x4—-45=
2 T Sy
2.7- 2 x4= 5—12+4
5
12+4-3= 12+4+3 =
1 — =
5’3_8X2: 4,9—-2,8%x5

www.snowmath.com


https://www.snowmath.com

Q i fg ba phan s, sb thap phan, thu tu cac phép toan

Tén: Ngay thang: Diém:

| 121 QN — (—
S 1 xd4=(——) 3-8=2=("1)
3 15

84 71
596X2+536:_ 2,9X4_4,5:—-
5 10
11 4=
27-2uy= 1L 5-12+4=2
5 10
12+4-3=0 12+4+3=6
1 149 91
53— x2=—= 4,9-2,8%x5=(——
6 3 ( 1())

www.snowmath.com


https://www.snowmath.com

